

### CREDIT CARD EXPENSE FORM

Ministry/Portfolio/Office: Department of Communications, Cabinet Office Portfolio Statement Date: 15 January 2024 Period of: 18 December 2023 – 13 January 2024

Date	Description of	Supplier	Currency	Exchange	CI\$
	Transaction		USD\$	Rate	Equivalent
16/DEC/23	Figma Monthly Renewal	Figma	\$30.00	0.8375	\$25.13
17/DEC/23	Facebook Ads.	Facebook	\$250.00	0.8375	\$209.38
17/DEC/23	Facebook Ads.	Facebook	\$2.74	0.8375	\$2.29
20/DEC/23	Midjourney Inc.	Midjourney	\$60.00	0.8375	\$50.25
		Inc.			
22/DEC/23	Hubspot Inc. (Customer	Hubspot	\$1,140.00	0.8375	\$954.75
	Relationship Mgmt. Tool)	Inc.			
23/DEC/23	Google Ads.	Google	\$500.00	0.8375	\$418.75
26/DEC/23	Hubspot Inc. (Customer	Hubspot	\$300.00	0.8375	\$251.25
	Relationship Mgmt. Tool)				
28/DEC/23	Facebook Ads.	Facebook	\$250.00	0.8375	\$209.38
01/JAN/24	Google Ads.	Google	\$318.02	0.8375	\$266.34
09/JAN/24	Facebook Ads.	Facebook	\$250.00	0.8375	\$209.38
13/JAN/24	Google Ads.	Google	\$500.00	0.8375	\$418.75
TOTAL			\$3,600.76		\$3,015.65



### **CREDIT CARD EXPENSE FORM**

Ministry/Portfolio/Office: Department of Communications, Cabinet Office Portfolio Statement Date: 15 February 2024 Period of: 15 January 2024 – 11 February 2024

Date	Description of	Supplier	Currency	Exchange	CI\$
	Transaction		USD\$	Rate	Equivalent
15/JAN/24	Facebook *QHTRLY	Facebook	\$250.00	0.8375	\$209.38
16/JAN/24	Figma Monthly Renewal	Figma	\$30.00	0.8375	\$25.13
17/JAN/24	Facebook Ads.	Facebook	\$30.34	0.8375	\$25.41
27/JAN/24	Facebook Ads.	Facebook	\$58.88	0.8375	\$49.31
20/JAN/24	Google Ads.	Google	\$500.00	0.8375	\$418.75
21/JAN/24	Facebook Ads.	Facebook	\$250.00	0.8375	\$209.38
22/JAN/24	Hubspot Inc. (Customer	Hubspot	\$1,140.00	0.8375	\$954.75
	Relationship Mgmt. Tool)	Inc.			
26/JAN/24	Midjourney Inc.	Midjourney	\$576.00	0.8375	\$482.40
		Inc.			
30/JAN/24	Facebook Ads.	Facebook	\$250.00	0.8375	\$209.38
01/FEB/24	Google Ads.	Google	\$336.38	0.8375	\$281.72
11/FEB/24	Facebook Ads	Facebook	\$250.00	0.8375	\$209.38
TOTAL			\$3,671.60		\$3,074.99



### **CREDIT CARD EXPENSE FORM**

Ministry/Portfolio/Office: Department of Communications, Cabinet Office Portfolio Statement Date: 15 March 2024 Period of: 16 February 2024 – 12 March 2024

Date	Description of	Supplier	Currency	Exchange	CI\$
	Transaction		USD\$	Rate	Equivalent
16/FEB/24	Figma Monthly Renewal	Figma	\$30.00	0.8375	\$25.13
17/FEB/24	Facebook Ads.	Facebook	\$19.86	0.8375	\$16.63
17/FEB/24	Facebook Ads.	Facebook	\$148.31	0.8375	\$124.21
22/FEB/24	Hubspot Inc. (Customer Relationship Mgmt. Tool)	Hubspot Inc.	\$1,140.00	0.8375	\$954.75
21/FEB/24	WeTransfer	Hubspot Inc.	\$120.00	0.8375	\$100.50
26/FEB/24	Google Ads	Google	\$500.00	0.8375	\$418.75
27/FEB/24	Facebook Ads.	Facebook	\$250.00	0.8375	\$209.38
01/FEB/24	Google Ads.	Google Ads.	\$13.96	0.8375	\$11.69
29/FEB/24	Ticket Nation	Ticket Nation	\$20.30	0.8375	\$17.00
07/MAR/24	Freshworks Inc.	Freshworks Inc.	\$282.00	0.8375	\$236.18
12/MAR/24	International Association of Business	IABC	\$1,908.00	0.8375	\$1,597.95
TOTAL			\$4,432.43		\$3,712.17



### **CREDIT CARD EXPENSE FORM**

Ministry/Portfolio/Office: Department of Communications, Cabinet Office Portfolio Statement Date: 15 April 2024 Period of: 15 March 2024 – 10 April 2024

Date	Description of	Supplier	Currency	Exchange	CI\$
	Transaction		USD\$	Rate	Equivalent
15/MAR/24	Dropbox Inc.	Figma	\$31.48	0.8375	\$26.36
16/MAR/24	Flockler	Facebook	\$55.00	0.8375	\$46.10
16/MAR/24	Figma Monthly Renewal	Facebook	\$30.00	0.8375	\$25.13
17/MAR/24	Facebook Ads.	Hubspot Inc.	\$104.80	0.8375	\$87.77
17/MAR/24	Facebook Ads.	Hubspot Inc.	\$15.64	0.8375	\$13.10
19/MAR/24	NAB Show Registration	Google	\$999.00	0.8375	\$836.66
22/MAR/24	Hubspot Inc. (Monthly Renewal)	Facebook	\$1,140.00	0.8375	\$954.75
25/MAR/24	Wynn Las Vegas Hotel	Wynn Las Vegas Hotel	\$259.64	0.8375	\$217.45
27/MAR/24	Cayman Travel Services	Cayman Travel Services	\$47.00	0.8375	\$39.40
27/MAR/24	Wynn Las Vegas Hotel	Wynn Las Vegas Hotel	\$6.02	0.8375	\$5.04
01/APR/24	Google Ads.	Google	\$371.61	0.8375	\$311.22
03/APR/24	Databox, Inc.	Databox, Inc.	\$435.00	0.8375	\$364.31
09/APR/24	Facebook Ads.	Facebook	\$250.00	0.8375	\$209.40
10/APR/24	Wynn Las Vegas Hotel	Wynn Las	CR	0.8375	CR
		Vegas Hotel	(\$265.66)		(\$222.49)
TOTAL			\$4,010.85		\$3,359.18



### **CREDIT CARD EXPENSE FORM**

Ministry/Portfolio/Office: Department of Communications, Cabinet Office Portfolio Statement Date: 15 May 2024 Period of: 16 April 2024 – 10 May 2024

Date	Description of Transaction	Supplier	Currency USD\$	Exchang e Rate	CI\$ Equivalent
16/APR/24	Flockler Subscription	Flockler	\$55.00	0.8375	\$
16/APR/24	Figma Monthly Renewal	Figma	\$30.00	0.8375	\$
17/APR/24	Facebook Ads.	Facebook	\$177.47	0.8375	\$
17/APR/24	Facebook Ads.	Facebook	\$32.97	0.8375	\$
22/APR/24	Hubspot Inc. (Customer Relationship Mgmt. Tool)	Hubspot Inc.	\$1,140.00	0.8375	\$
23/APR/24	Dropbox	Dropbox	\$2,016.00	0.8375	\$
01/MAY/24	Google Ads.	Google	\$451.26	0.8375	\$
02/MAY/24	American Marketing Association	AMA	\$859.00		
02/MAY/24	American Marketing Association	AMA	\$859.00		
03/MAY/24	Databox, Inc.	Databox, Inc.	\$507.00		
03/MAY/24	GoToCom - LogMeInPro	GoTo	\$349.99		
09/MAY/24	Facebook Ads	Facebook	\$250.00		
10/MAY/24	The Cavendish Hotel	The Cavendish Hotel	\$3,782.54		
TOTAL			\$10,510.23		\$1,820.05



#### **CREDIT CARD EXPENSE FORM**

Ministry/Portfolio/Office: Department of Communications, Cabinet Office Portfolio Statement Date: 15 June 2024 Period of: 16 May 2024 – 14 June 2024

Date	Description of	Supplier	Currency	Exchange	CI\$
	Transaction		USD\$	Rate	Equivalent
16/MAY/24	Flockler Subscription	Flockler	\$60.00	0.8375	\$50.25
16/MAY/24	Figma Monthly Renewal	Figma	\$30.00	0.8375	\$25.13
17/MAY/24	Facebook Ads.	Facebook	\$29.36	0.8375	\$24.60
17/MAY/24	Facebook Ads	Facebook	\$184.82	0.8375	\$154.80
23/MAY/24	RBC Georgetown (CR)	RBC GT	(\$4,500.00)	0.8375	\$3,768.75
25/MAY/24	Hubspot Inc.	Hubspot Inc.	\$1,140.00	0.8375	\$954.75
25/MAY/24	Facebook Ads.	Facebook	\$250.00	0.8375	\$209.40
28/MAY/24	British Airways	BA	101.00	0.8375	\$84.60
29/MAY/24	Google Ads.	Google	500.00	0.8375	\$418.75
30/MAY/24	Facebook Ads.	Facebook	250.00	0.8375	\$209.40
29/MAY/24	Cayman Airways (Reservations)	Cayman Airways	25.00	0.8375	\$20.94
01/JUN/24	Google Ads.	Google	80.21	0.8375	\$67.18
02/JUN/24	Facebook Ads.	Facebook	250.00	0.8375	\$209.40

03/JUN/24	Databox, Inc.	Databox	\$513.00	0.8375	\$429.63
04/JUN/24	Getty Images	Getty Images	\$499.00	0.8375	\$417.91
07/JUN/24	Facebook Ads.	Facebook	\$250.00	0.8375	\$209.37
07/JUN/24	Freshworks Inc.	Freshworks, Inc.	\$282.00	0.8375	\$236.17
07/JUN/24	Freepik Premium	Freepik Premium	\$118.94	0.8375	\$99.61
07/JUN/24	Dropbox	Dropbox	\$252.49	0.8375	\$211.46
07/JUN/24	Dropbox (CR)	Dropbox	(\$252.49)	0.8375	(\$211.46)
08/JUN/24	The Cavendish Hotel, London	The Cavendish Hotel, London	\$77.02	0.8375	\$64.50
13/JUN/24	Facebook Ads.	Facebook	\$250.00	0.8375	\$209.37
14/JUN/24	1PASSWORD Subscription	1PASSWOR D	\$15.01	0.8375	\$12.57
TOTAL			\$9,910.34		\$8,300.00



### **CREDIT CARD EXPENSE FORM**

Ministry/Portfolio/Office: Department of Communications, Cabinet Office Portfolio Statement Date: 15 July 2024 Period of: 16 June 2024 – 11 July 2024

Date	Description of	Supplier	Currency	Exchange	CI\$
	Transaction		USD\$	Rate	Equivalent
16/JUN/24	Flockler	Flockler	\$60.00	0.8375	\$50.25
16/JUN/24	Figma Monthly Renewal	Figma	\$30.00	0.8375	\$25.13
17/JUN/24	Google Ads.	Google	\$500.00	0.8375	\$418.75
17/JUN/24	Facebook Ads.	Hubspot	\$217.19	0.8375	\$181.90
		Inc.			
17/JUN/24	Facebook Ads.	Facebook	\$19.28	0.8375	\$16.15
22/JUN/24	Hubspot Inc.	Hubspot Inc.	\$1,140.00	0.8375	\$954.75
01/JUL/24	Google Ads.	Google	\$401.25	0.8375	\$336.05
03/JUL/24	Databox Subscription	Databox	\$519.00	0.8375	\$434.66
06/JUL/24	Productive Trial	Productive	\$196.00	0.8375	\$164.15
11/JUL/24	3 Girls & a Kiln	3 Girls & a	\$420.00	0.82	\$345.00
		Kiln			
TOTAL			\$3,502.72		\$2,926.79



### CREDIT CARD EXPENSE FORM

Ministry/Portfolio/Office: Department of Communications, Cabinet Office Portfolio Statement Date: 15 August 2024 Period of: 16 July 2024 – 12 August 2024

Date	Description of	Supplier	Currency	Exchange	CI\$
	Transaction		USD\$	Rate	Equivalent
16/JUL/24	Flockler	Figma	\$60.00	0.8375	\$50.25
16/JUL/24	Figma Monthly Renewal	Facebook	\$30.00	0.8375	\$25.13
17/JUL/24	Facebook Ads.	Facebook	\$222.26	0.8375	\$186.14
22/JUL/24	Hubspot, Inc.	Hubspot Inc.	\$1,140.00	0.8375	\$954.75
03/AUG/24	Databox, Inc.	Databox, Inc.	\$519.00	0.8375	\$434.66
06/AUG/24	Productive.IO	Productive.IO	\$196.00	0.8375	\$164.15
06/AUG//24	Expedia	Expedia.com	\$400.72	0.8375	\$335.60
05/AUG/24	AC Hotel Kingston,	AC Hotel	\$1,820.76	0.8375	\$1,524.88
	Jamaica	Kingston,			
		Jamaica	<b>•</b> • • <b>-</b> • • •		<u> </u>
06/AUG/24	UMAYA, Stann Creek,	UMAYA,	\$1,370.44	0.8375	\$1,147.74
	Belize	Stann Creek,			
		Belize	<i></i>		<b>*</b> · • • • · •
08/AUG/24	Project Management Institute	PMI	\$129.00	0.8375	\$108.04
08/AUG/24	Project Management Institute	PMI	\$129.00	0.8375	\$108.04
08/AUG/24	Project Management Institute	PMI	\$129.00	0.8375	\$108.04
12/AUG/24	Facebook Ads	Facebook	\$250.00	0.8375	\$209.38
12/AUG/24	2U Getsmarter LLC	2U	\$1,587.00	0.8375	\$1,329.11
		Getsmarter			
		LLC			
TOTAL			\$7,783.18		\$6,685.91



### **CREDIT CARD EXPENSE FORM**

Ministry/Portfolio/Office: Department of Communications, Cabinet Office Portfolio Statement Date: 15 September 2024 Period of: 16 August 2024 – 07 September 2024

Date	Description of Transaction	Supplier	Currency USD\$	Exchan ge Rate	CI\$ Equivalent
16/AUG/24	Flockler	Flockler	\$60.00	0.8375	\$50.25
16/AUG/24	Figma Annual Renewal	Figma	\$30.00	0.8375	\$25.13
16/AUG/24	Figma Monthly Renewal	Figma	\$500.00	0.8375	\$418.75
17/AUG/24	Facebook Ads.	Facebook	\$217.19	0.8375	\$181.90
17/AUG/24	Facebook Ads.	Facebook	\$19.28	0.8375	\$16.15
19/AUG/24	PAYMENT TO CIPR	CIPR	\$1,140.00	0.8375	\$954.75
19/AUG/24	PAYMENT TO CIPR	CIPR	\$401.25	0.8375	\$336.05
22/AUG/24	Hubspot Inc. (Monthly Renwal)	Hubspot Inc.	\$519.00	0.8375	\$434.66
29/AUG/24	RBC Georgetown (CR)	RBC	(\$3,000.00)	0.8375	(\$2,512.50)
01/SEP/24	Facebook Ads	Facebook	\$250.00	0.8375	\$209.38
02/SEP/24	HugeDomains.com	HugeDomains. com	\$1,044.00	0.8375	\$874.35
02/SEP/24	Dropbox	Dropbox	\$183.85	0.8375	\$153.97
03/SEP/24	Databox, INC.	Databox, INC.	\$519.00	0.8375	\$434.66
04/SEP/24	Project Management Institute (CR)	PMI	(\$129.00)	0.8375	(\$108.04)
04/SEP/24	Project Management Institute (CR)	PMI	(\$129.00)	0.8375	(\$108.04)

05/SEP/24	Paddle.net, London	Paddle.net,	\$120.60	0.8375	\$101.00
		London			
06/SEP/24	Productive.IO	Productive.IO	\$196.00	0.8375	\$164.15
07/SEP/24	Freshworks INC	Freshworks	\$282.00	0.8375	\$236.18
		INC			
TOTAL			\$8,740.17		\$7,319.91



### **CREDIT CARD EXPENSE FORM**

Ministry/Portfolio/Office: Department of Communications, Cabinet Office Portfolio Statement Date: 15 October 2024 Period of: 16 September 2024 – 06 October 2024

Date	Description of Transaction	Supplier	Currency USD\$	Exchan ge Rate	CI\$ Equivalent
16/SEP/24	Flockler	Flockler	\$60.00	0.8375	\$50.25
16/SEP/24	Figma Monthly Renewal	Figma	\$15.00	0.8375	\$12.56
17/SEP/24	Facebook Ads.	Facebook	\$63.19	0.8375	\$52.92
17/SEP/24	NAB CONVENTIONS (EVENTS)	NAB	\$399.00	0.8375	\$334.16
18/SEP/24	NAB CONVENTIONS (EVENTS)	NAB	\$399.00	0.8375	\$334.16
20/SEP/24	Google Ads.	Google	\$500.00	0.8375	\$418.75
22/SEP/24	Hubspot Inc. (Monthly	Hubspot	\$1,140.00	0.8375	\$954.75
	Renewal)	Inc.			
26/SEP/24	MHR MARQUIS CHICAGO	MHR	\$1,074.22	0.8375	\$899.66
	FD CHICAGO IL	MARQUIS			
26/SEP/24	MHR MARQUIS CHICAGO	MHR	\$1,074.22	0.8375	\$899.66
	FD CHICAGO IL	MARQUIS			
26/SEP/24	MHR MARQUIS CHICAGO	MHR	\$1,042.51	0.8375	\$873.10
	FD CHICAGO IL	MARQUIS			
03/OCT/24	RBC George Town (CR)	RBC	(\$5,000.00)	0.8375	(\$4,187.50)
04/OCT/24	Google Ads	Google	\$497.43	0.8375	\$416.60
04/OCT/24	Databox, Inc.	Databox,	\$543.00	0.8375	\$454.76
		Inc.			

04/OCT/24	Facebook Ads.	Facebook	\$478.11	0.8375	\$400.42
05/OCT/24	1Password	1Password	\$287.28	0.8375	\$240.60
06/OCT/24	Productive.IO	Productive. IO	\$196.00	0.8375	\$164.15
06/OCT/24	Restream, INC.	Restream, Inc.	\$490.00	0.8375	\$410.37
TOTAL			\$13,258.96		\$11,104.37



### **CREDIT CARD EXPENSE FORM**

Ministry/Portfolio/Office: Department of Communications, Cabinet Office Portfolio Statement Date: 15 November 2024 Period of: 16 October 2024 – 12 November 2024

Date	Description of	Supplier	Currency	Exchange	CI\$
	Transaction		USD\$	Rate	Equivalent
16/OCT/24	Flockler	Flockler	\$60.00	0.8375	\$50.25
16/OCT/24	Figma Monthly Renewal	Figma	\$15.00	0.8375	\$12.56
17/OCT/24	Facebook Ads.	Facebook	\$21.23	0.8375	\$17.78
17/OCT/24	Facebook Ads.	Facebook	\$216.81	0.8375	\$181.58
22/OCT/24	Hubspot Inc. (Monthly	Hubspot Inc.	\$1,140.00	0.8375	\$954.75
	Renewal)				
30/OCT/24	Facebook Ads.	Facebook	\$250.00	0.8375	\$209.38
30/OCT/24	MHR MARQUIS	MHR	\$523.90	0.8375	\$438.76
	CHICAGO	MARQUIS			
		CHICAGO			
01/NOV/24	Google Ads.	Google	\$369.24	0.8375	\$309.24
08/NOV/24	Productive.IO	Productive	\$196.00	0.8375	\$164.15
07/NOV/24	Facebook Ads	Facebook	\$250.00	0.8375	\$209.37
07/NOV/24	RBC George Town (CR)	RBC	\$8,258.96	0.8375	\$6,916.88
08/NOV/24	Databox, INC.	Databox,	\$567.00	0.8375	\$474.86
		INC.			
12/NOV/24	Facebook Ads.	Facebook	\$250.00	0.8375	\$209.38
TOTAL			\$12,118.14		\$10,148.94



### CREDIT CARD EXPENSE FORM

Ministry/Portfolio/Office: Department of Communications, Cabinet Office Portfolio Statement Date: 15 December 2024 Period of: 16 November 2024 – 07 December 2024

Date	Description of Transaction	Supplier	Currency USD\$	Exchange Rate	CI\$ Equivalent
16/NOV/24	Flockler	Flockler	\$60.00	0.8375	\$50.25
16/NOV/24	Figma Monthly	Figma	\$15.00	0.8375	\$12.56
	Renewal				
15/NOV/24	HILTON GARDEN INN	HILTON	\$380.47	0.8375	\$318.64
	CHIC EVANSTON IL	GARDEN INN			
16/NOV/24	Facebook Ads.	Facebook	\$250.00	0.8375	\$209.38
17/NOV/24	Facebook Ads.	Facebook	\$17.82	0.8375	\$14.92
22/NOV/24	Hubspot Inc.	Hubspot, Inc.	\$1,140.00	0.8375	\$954.75
26/NOV/24	Apple.com/US (CR)	Apple	(\$140.45)	0.8375	\$117.63
26/NOV/24	Apple.com/US	Apple	\$140.45	0.8375	\$117.63
26/NOV/24	Apple.com/US	Apple	\$140.45	0.8375	\$117.63
29/NOV/24	IDEOU.COM (AI	IDEOU	\$200.00	0.8375	\$167.50
	Training Course)				
01/DEC/24	Google Ads.	Google	\$413.80	0.8375	\$346.56
01/DEC/24	Facebook Ads.	Facebook	\$250.00	0.8375	\$209.38
03/DEC/24	Databox, INC.	Facebook	\$567.00	0.8375	\$474.86
06/DEC/24	Productive.IO	Productive.IO	\$196.00	0.8375	\$164.15
07/DEC/24	Freshworks, INC.	Freshworks,	\$282.00	0.8375	\$236.18
		INC.			
TOTAL			\$4,193.44		\$3,512.02